Match.

75l 5+ 2 3 £S5 5+ 5

3+ 6 7 +90 | =29 27

How many altogether?

Addition: consolidation to 10




0. Colour 3, to make 9.

@f\

Addition: consolidation to 10



|
10+ 6 = 10 + 4 = el =
10 +9= 6+10= 10 4 5=
| + 10 = 9+ 10 =
10 + =12 10 + =17
+10= 14 + 10 =20

Addition: adding 10, | and 2




Use cubes.

14 + 3 =
12 + 4 =
Il + 4 =
2+ 17 = 12 + 6 =

4+ 5= 2+ 7=

|4 + 5 = 124+ 7 =
i3+ 2= 17+ 1 = I3 +6 =
8+ 1l = |18 + 0 = 12 + 8 =
Il +3 = 4 + |5 = 12 + 5 =
0+ 16 = Il +9= 5+ 13 =

Match to make 7.

; Addition: single digit and teens number



913 7+ 4=

q+5= 8+ 6= q+ 4 =

8 + 4 = 7+5= 8+3=




Addition: doubles and near doubles




+3=11 +6=11 + 4

[l

3+

9 + = 11 2 +

Colour two fﬁ to make 11.

5.0 .5

Addition: facts for |1




Use cubes. Make 12.

8 +

5+

7+5=

9+ 3=

Match.

6+ 6

8 add 3

9 and 3

8 + 4

o =+

HOME ACTIVITY 3

12

7 +

4 +

5+6=

5+7=

7 +

12

4+ 8=

3+9=

6 +

3+

3+ 9

4 add 8

4+ 7

5and 7

+6=12

Addition: facts for 12




How many?

5+8=

n: facts for 13

Add.

9+ 4=

4+9=

4+9=

PUPIL SHEET 3




5+9=

8+6=

q+5: -+ —
Drawlmore’.

+ + =

+ + =
Draw | more @N'

+ + =
/1+7= q+ 6=
Q1+4= 7+8 -

PUPIL SHEET 4 CHECK-UP 2 HOME ACTIVITY 4

Addition: facts for |14 and I5




8 + =16

books altogether.

Addition: facts for 16, 17, 18, 19

8 +

o+ =10

I
~

books altogether.




Addition: facts for 20



Gha—4 7= : o NS
4+7=__ 3+9=_ A+4=

bl e eER = E§+6= =

8 + = 11 16 + =20 4 + =I3n

Colour two [ .

Addition: facts for 20




7 E5=_ §r240=
6+7+4=__ S5+o-oimE
4+9+3= 74+ 54+ F=0
g+ L+9=__ s+ =_
Yt Gt =16 4 + +6=13

Make 20. Make 20.

Choose three numbers each time ———
Make different totals.

g + = -+ — ==

Addition: adding three numbers




- Use|[q]l3]l6]]l8]-

Make one wheel number and colour it.

Colour even numbers

Make 12. Use two

Make 12. Use two

Make 14. Use two

Addition: using and applying




Find three different ways to spend |5p.




4+5 =

8+2= 6+ 4= 2+6=
3+ 5= | + 6 = 3+ 4=
EI'O+6: 10 + 4 = 7+ 10 =
10 + =15 + 10=13
10 + =18 + 10 = 20
B Find each total.
4+ | = 4+ 16 = 15+ 3 =
2+ 17 = 13 +3 = 8+ Il =
12 +2 = 6+ 11 = 14 + 6 =
u How many altogether?
5+8= 9+ 4 = 7+5=
8+3= 6+7= 3+9=
6+5= 4+ 8= 6+ 6=
4 + =13 + 4 =11 5+ = |2

Addition: assessment




n How many altogether?

9add 9 = 7 add 8 =
8 add 6 = 10 add 9 = 8 add 9 = "
7 add 9 = 8add 7 = 9 add 6 = i
|
+7=14 8 + =16 q + =17
B3 Make 20. |
10 + + 8 17 +
-+ -+ o+
B Find each total.
3+7+5= 6+7+ 4=

Colour three numbers each time.

. ~ ™)

Make |6. Make 19.

Al 4 B 2
31 6| 2|5 51 81| 6 | 4|7

Addition: assessment




VAN

 less than 7

Subtraction: consolidation to 7




6 fall off. — 6= 3 fall off. —

.
)

° Colour to match.

9 take away 2 - |Osubtrc1ct8

Take 8 from 9.

lf 3 Ie ss than 9

The difference ﬁ The difference» |

between between | 3 | 4 b

|0 and 5. | 5 and 8. |
I |

B>

Subtraction: consolidation for 8, 9 and 10




Use cubes.

143 - 5 -2 | &

19— 4 = 17— 5 — 1856 =

4 — 3= H-7= 15 —fi=

18 —3 = 12 -2 = |5 — 4 =

Make [4.

——— .
VL i5 - _
SR

‘ < b/‘”
Subtraction: single digit from a teens number




22

-9 = |10 — 4 =

-9 = 20 -4 =

— 8 = 20— 1 =

20-10 = 20-3 = 20 — 6 =
subtract 3 subtract 5

14 = 0 96

13 20 — 20 I8 — |6

|5 =

16 -4=10 -2=11

Subtraction: single digit from 20 and teens number




23

Use cubes.

16— 11 = 19— 13 =
18 — 15 = 15— 13 = e
16 — =3 15 — =0 1§ = = |
454 2 e g
1411 = 18-—17 = 1813 = *
(5 T9= [2— e =
19— 14 = 16— 16 = 18 — 14 =
== i 15— =

Find the difference between

17 and |4 |18 and 16

|4 and 10 17 and 15

Subtraction: teens numbers

HOME ACTIVITY 7



Use cubes.

14 -6 = 17 -9 = 15-9=

i -6 = 14 -7 = I15-8 =

12 -4 = 12-7 = 13 -7 =
Il minus 8 = 12 subtract 5 =
Take 6 from 13. Subtract 9 from |4.

Subtraction: single digit from a teens number, bridging 10



I5-7 =
| | [ | | |
|14 -8 =
| | I |
6
|13-5= 16—/ =
|6 —9 = 15 -8 =
12 -6 = |14 -7 =
|6 — 8 = 18 — 9 =
Colour to match.
12 — 3 12 — 4
Il — 5 I - 2
I - 4 12 — 5
13 — 4 Il - 3
Il — 8 = I3 -9 =
12 -9 = Il —9 =

Subtraction: single digit from a teens number, bridging 10

14-5 =

13 -8 =

IH-7=

12 -8 =

HOME ACTIVITY 8




Ot

How many g5 7

[ g =
[l 4

1] =5 i =&= 7=

Bl 11 =8= l

Colour to match.

1l — 4 || take away 2

Il —9 | | subtract 7

Il -6 Take 3 from I 1.

Il -8 = 5= il =
4 less than || = Subtract 9 from 1 1.

|1 minus 6 = | less than |1 = |
= ~7 = = 9 [l =0l

Subtraction: facts for 1|




How many hats?

12 -3 =

12 -4 = 12 -5 =

12 -6 = 12 -7 =

12 -8 = 12 -9 =
4 are sold. 7 are sold.
How many are left? How many are left?
12 -9 = 12-3 = 12 -0 =

N

|2 take away 8 = 12 subtract 5 =
9 less than 12 = |2 minus 12 =
Take 6 from 12. _ Subtract 4 from 2.
12 — =5 12 — =4 12 — =7

Subtraction: facts for 12 PUPIL SHEET 9




fall down.

left?

How many are

|3 take away 5

')
=
L

Sl

O
o
@)

, \J

|3 subtract 7

less than 13

|3 minus 8

facts for 13

Subtraction




How many @ ?

14— 4 = 145 = 4-8=

14 7= 14 -9 = 14— 6 =

How many O ?

|5— = IS—q: |5_7:
|5 — 8 = |I5-5= 15 =40 =
Colour to match. i N ® 7 less than 14
Subtract 6 e
from 15 ' ‘ 3

14— |=19 s—| |=¢8 —9=6

15— =7 14— =5 ~-6=8

Subtraction: facts for 14, 15 PUPIL SHEET 10 [f| HOME ACTIVITY 9



@ eoeoeeeeee
o eoee e
|16 — 6 =
16 —7 = |6 — 8 = 16 —9 =
- — - -
@ elo|e|ee/ oo oo
o ooleel oo
17 - 10 =
|17-7 = |17 -8 = 17 -9 =
L - . —
oeoje/e|e| [o[e[e]e]e oo eeoo|eeeee
o eoleele oeoe o oo oo eeee
8= 0= 19-9=
18~ 9 = 8- =
—— L ——
|18 — 8 =
N ——

7, e )
10 less than |6

8 less than 18

Subtraction: facts for 16, 17, 18, 19




,,,,, -

Y OO0oo0 opoaon

o =

20-13 = 20- 18 = 20-11 =

20-19= 20-17 = 20— 14 =

20-5= 20-2 = 20-8 =

20 — 16

I
~
N
o
|
I

|7 20 -

20 — I 20 —

[
-0
N
o
|
I
w

Subtraction: facts for 20




|5 take away 8 =

| 4 subtract 6

6 less than 13 =

Take 10 from 4.

Colour to match.

|3 minus 4 =

|2 subtract 8 =

9 less than 16 =

Subtract 7 from 15.

Subtraction: facts to 20




|| take away 2 = |8 minus 9 = ]

|6 subtract 7 = 4 less than 20 = |

Take 10 from 16. Subtract 9 from 1 |.

Subtraction: facts to 20

HOME ACTIVITY 11



Subtraction: linking with addition



OO6OCB6O ARAARAAAR

8 + = q + =

Subtraction: linking with addition




Sort.

16 89( 20 | 11 17| 9
M 16 18 | I3 20 | 12
7 |15 Q| 11 9 |6
difference of 8 dif; of 8
|16 | 8
Find my number.
The difference
' }q more than 6) between 12 and 20.

| 4

Subtraction: using and applying




Use

|5

Complete.

5 less than 18

minus 6

4 more than 8

Take 5 from

Subtract from 20

Sal

Who has double 6 add |7?

Subtraction: using and applying




|
j n 6-3= 7-5= 5-2=

8—-4= Q-0 = |0 -6 =
Subtract 3 from 9. 5 less than 10 is
n 19 -4 = I8 — 6 = I5 -4 =
|7 -5 = 20-8 = |6 — 2 =

20 — = |3 -1 =18 14— = ]
B |19 - 15 = 17 -12 = 16 — 14 =
I8 — 18 = I5=11 = 19-13 =

Find the difference between

|4 and || |18 and 12 |7 and 13
Il -6 = 13-7= |12 -5 =
I13-9= 12 -4 = Il —8 =
|2 minus 8. 7 less than 11 is

13 — =7 1] — =8 —-6=6

Subtraction: assessment




15-9 = 14 -8 =

14 -5 = 15 -6 =

How many more “ than g} K

|4 — =5 |5 — =7 15— =10
B |7 —9 = |16 —7 = |6 — 8 =

|8 — 9 = |7 — 8 = 1§ -9 =

Subtract 9 from 16. Take 7 from |7.
B20—13: 20-9 = 20-16 =

Find the difference between

20 and 17 20 and 8 7 and 20
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